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Uypwlptibp
03461200 gbijntynqui RPOUL pwd 40000 1 40.000
09132200 pblghl, rEgnwn (24 1hunp 3295 9335 3075883
09132200 pGOghl, rbgnywn POUL Lhunp 340 2600 ¥84.000
09132200 pGaghl, rEgmywp [aa]Uls thup 350 100 35.000
09132200 pliGghl, rEgnywp PoUL Lhwp 310 100 31.000
09132200 ptiighl, rbgniyjwp ROUL Lhtnp 360 300 108.000
09134200 nhgbiwiha Juinkihp, wiwnwho < Lhup 314 2360 741.040
09134200 nhabiwihG Jwnbihp, wiwnughl POUL Lhup 330 2412 795.960)
09211100 2wndhsh ninkp POUL thun 3500 30 105.000
09411700 POWYWO quig POUL pwd 322000 1 322.000
09411700 plwlwh qug uu pwii 563000 1 563.000
15991700 dhiwph pninp np Apwi 3050000 1 3050.000
18311190 uwjwplbp ROUL hwn 8000 3 24.000
18521100 dwiwgnijgltp Ul hwun 2000 2 4.000
19641000 wnhtph 60wt wwpy, wnph hwdwnp Uu hwuwn 400 35 14.000
19642100 wniptphiGlwiho wy wpuwnpwip LoUL Tpwad 25000 1 25.000
19642100 wnihtphiGOwihG wy wpuwnpwip uu Opwi 35000 1 35.000
22141300 pnuyibuinGtp Uu Ipwil 130000 1 130 000
22451200 YYuwywwbibp PLUL hwwn 550 100 55.000
22821200 Phalbu dLwpnpbp ROUL Apwid 120000 1 120,000
22821200 phqlbu dLwpnpbp uu pwid 380000 1 380.000
22851200 PrRpWwwiwyitn uu hwun 200 100 20.000
24111100 wngn( a< hwun 54000 15 K10.000
24111120 hGjhnig g hwin 300000 1 300.000
24111180 BRYWSH{ ufal hwin 15000 1 15000
24311129 quowquwl wiopquiwyws phdhwyw Ginipbp a< pwid 1025800 1 1025 800
24321660 qulwqul opquibwijwt phdpwwl tynipkp Q< Tpwad 1056700 1 1056.700
24451100 wtiuwhghnbtp Uy pwad 650000 1 650.000
24451140 whuwnwhwilhs Oniptp Uu hwin 750 6 4.500
24911200 unuhd, tdnyuhw uu hwiwn 5000 2 10.000
24911400 unuhGa PDUL hwiwn 300 11 3.300
24911400 unuh(d uu hwwn 300 19 5.700
24911400 unuhld uu Yhjngpwd | 2500 4 10.000
24951130 uhipynlt puniylbp PRUL Ypwd 850 1 0.850
24951130 upphynt puniylbp uu “pwd 2150 1 2,150
24951310 hwlwuwehg htnny A nwuh YnGgbbwnpwbnm, A-40 nwuh’ POUL pwy 14700 1 14.700

40 C wunh&wl vwndwo ebpdwunhswtny,A-65 nwup' 65 C

uwirdwi obndwuwnhgw(ny
24951310 hwlwuwehs htnniy A nuwiuh YnOgtibuinpwbn, A-40 nwuh’ uu Apwi 15300 1 15300

40 C wutinh8wl uwndwd otipdwunhgwlny A-65 nwuh' 65 C

uweiwib obnwuwnhAwony
30121310 grwubljwyuyhG Otipbowbbph dwubp L Wwnpwgulbp PRUL pwd 70000 1 70,000
30121310 apwublwlyuyhb dEpLGwbph dwubp b wwpwqwkn Q< Tpwd 500000 1 S00.0060
30121460 wnlbpuhl pwpupheGbp PLUL hwn 4000 20 80.000
30121470 nnlbp jwigbnwih Lmuhgﬁbnh/hhnmmwmdbﬁwhwﬁnn POUL Apwid 30000 1 30.000

dbipbOwotph hwdwp
30121470 nnlbp (wabnpwiha LnumzDbnh/hbnwmwmébﬁwhujﬁnq 474 “Apwd 135600 1 135.600

dbpEGwotph hwdwp
30192114 pwiwp, Yahph pwpahyh hwdiwp a< hwwun 500 4 2.000
30192150 Lahp POUL hwin 12000 1 12.000
30192700 gpbowywh Whwnnyplkp POUL Apwii 6000 1 6.000
30197111 Ywphsh dbunwnwiwnt Ywwtp, thnpp PRUL wnnh 200 3 0.600
30197111 Yuphsh dbunwnwiwnt Ywujtp, thnpp a{ wnnith 200 30 6.000




30197231 pnpwwwiwy, wnhibpwihl pwnwop, dwy POUL hwuwn 10 100 1.000
30197234 RRpWWwOwy, Ynpwn Jugdny Loul hwun 1200 4 4.800)
30197235 RPRWWwlwY wipwyny PRUL hwun 100 14 1.400
30197300 opuiph pwghsObp, YwphsObp W nwyhsGtp QL hwin 2000 1 2.000
30197332 nwyhs (Swynwps)” dhohl PRUL hwwn 1700 1 1.700
30197622 pnine, A4 pnpduinh /21x29.7/ PRUL wnih 2200 8 17.600
30197646 pninp” A3 dnpdwunh /29,7x42/ a<{ wnnig 3500 18 63.000
30199420 prinp Dpnedlbph hwdwp, unu@dywdpny PoUL hwun 260 5 1.300
30199420 pnune Gonudbbph hwdwp, unuGédywépny Q< hwuwn 260 34 8 840
30211260 dhypnhwdwwpgswh0 uwppbp Q< Apwd 50000 1 50.000
30211280 hwiwywnpghs wipnnep dbynyd LoUL hwuwn 300000 1 300.000
30234300 nwwwnpy vjwywrwy, wewlg wnniph, CD Qg hwun 120 30 3.600
30234630 P62 hhpnnnipnil, 8GB Qg hwn 3000 3 9.000
30237100 hwiwywpghsGeph dwubp [a]alV’S pwd 150000 1 150.000
30237100 hwidwwnghsGGph Swubp a< Npwd 150000 1 150.000
30237111 ubnigdwl dwpunyng (UPS+H dwpunlng) [2/alV74 hwun 15000 2 30.000
30237111 ulnigiwl dwpunnyng (UPS+H dwpnlng) Q<4 hwun 15000 6 90.000
30237111 ubnigdwl dwpunyng RrOUL hwin 600 10 6.000
30237111 ulinigdwl dwpuyng Qg huwiun 600 20 12.000
30237200 hwiwywnpghsbbph Wwpwquwbbp POUL Apwid 155000 1 155.000
30237200 hwiwlwpghsbtph Wwpwaquwbbp Qs Tpwd 600000 1 600.000
30237220 U4UhYh vnwynpplbbp PRUL hwin 550 2 1100
30237410 hwiwywnpgswiht dyahyikp POUL hwiwn 2500 2 5.000
30237410 hwiwywpgsuwht d40hyokp Q<l hwin 2500 2 5.000
30237460 hwdwywpgswihl uunbn Owwpbp POUL hwuwn 3500 4 14.000
30237460 hwiwywpgswihb unbnbwywpbp Q<L hwwn 3500 2 7.000
30239160 nwhg/ywuindblwhwidwl sepbhw/uluwdtn 974 pwd 70000 1 70.000
(pwadwdnibyahnbuny jwabnwih0)
31211180 wyinniwwn whowwnhsObp POUL hwiwn 1250 4 5.000
31531230 flEYyunpwluwb jwdy, 200W LPoUL pwd 34000 1 34.000
31531230 f|EYuinpwywl jwdyy, 200W uu Tpwd 86000 1 86.000
31651100 ubyniuhs dwwwybl, onwywal PRUL hwun 200 11 2.200
31651100 utiynups dwwwybl, onwywdél Uu hwuwn 200 39 7.800
31681100 kltywnpuwywl wwpwaquwibp Yhiunpyuinnp Uu Apwd 120000 1 120.000
31681610 klGYunpwlwt wwwhndhs, dhwdwg, 32U Uy hwun 1000 8 8.000
31683300 Gowpwaiuhs, Jwpnwyho shwgynn, wewdg [wph [a]a]VT4 hwun 800 10 8.000
31684400 Jwpnwy PRUL pwd 13000 1 13.000
31684400 Jupnuy Uu pwid 20000 1 20.000
31685000 tiEyunpwlwl Bplupwgdw jwnp POUL hwin 1300 2 2.600
31685000 Liywnpwywl Gplwpwgdw jup Ul hwwn 1300 1 1300
31711100 b Ywnpnbwih wwpwgwbp Q< Apwid 75300 1 75300
31711160 kiEyunpnnlbp ne pwid 3325000 1 3325 000
32351210 Juwwwyb0eiEp wwpwdhiwujwun ne winth 30000 1 30.000
32411130 hwiwgwlg Ju Tpwd 132000 1 132.000
32421100 gwOgwihl dwnipulbp uu Apwd 92000 1 92.000
32521100 htinwhwnnpnwygdwl dwiniulbp POUL dbunp 300 100 30.000
32521100 hGrwhwnnpnwlygdwb dwyntubbp Uu dGwp 300 75 22.500
32551160 hrwiunuwht uwpptp PoUL hwn 10000 1 10.000
32551160 hbpwjunuwhO uwppbp Ju hwun 13000 5 65.000
33141211 pd2ywiyuwb wy gnpshplbp L ywnpwgwObp [a]a]UT4 Opwd 34000 1 34.000
33141211 pd24wlwl wy gnpdhpltip L wwpwqwobn G2z Tpwd 39700 1 39.700
33161220 2ujwwnt) thwyjunb Qz hwwn 300 5 1.500
33191310 pnpdwlinpltp a0 huwwn 170 3000 510.000
33191310 thnpdwbnplbp ne pwd 1245000 1 1245.000
33191320 daywaquijw oguwgnpdiwl jwpwpwwnnp nwpuwbbp Y4 Apwd 300000 1 300.000
33691157 wqnwniphp (rhwgbGunibp) L YnbunpwuwnwihG Gingebn Uu Opwd 850000 1 850.000
33711240 whabenghly uu hwin 650 20 13.000
33761000 gnigupwih pnine, rniintny POUL hwwn 165 260 42.900
34331300 wywnndbpblwbtph wwhbunwdwubp PoUL pwd 100000 1 100.000
34331300 wyunnibpblwbbph wywhbunwdwubp a4 pwd 250000 1 250.000
34351200 wywunndtpbbwbtph wihytbp Q< hwuwn 30000 8 240,000
35121340 hwwnnily dwulwghunwlwb uwppbp L Onuebp uu pwd 400000 1 400.000
38431140 Jopnidnipjwb uwppwynpnidlbp e Apwd 1002000 1 1002.000
38431160 Pnl ppndwwnngpwdplbph dwubn ne Apwd 2746000 1 2746.000
38431170 quigh ppndwwnngpwdibph dwubip e Opwid 318000 1 318.000
38431170 qugh ppndwwinngpwdibph dwubp no hwun 14000 15 210.000
38431710 JwpnghlGtp e Tpwd 461000 1 461.000
38431720 Ywpnghylbph Sswjpwiuw Gbp ne pwd 723500 1 723.500
39138320 pwqywpne, 2wpdwlw, Yunnphg RPUL hwuwn 25000 1 25.000
39138320 pwqiwpenne, pwndwlywl, Yunnphg uu hwun 25000 7 175.000
39151240 Ywhniyp PLUL pwd 795000 1 795.000
39221140 rEh Yuwd unipdp pwdwlybbn Q2 pwd 10000 1 10.000
39221480 qriqupuwlp unquibwyGkp Q< hwun 1200 2 2.400




39224331 nnyi wjjwuundwiub PoUL hwun 1000 3 3.000
39224331 nnyj wiwundwub Q< hwun 1000 3 3.000
39224440 226p POUL Npwd 150000 1 150.000
39224440 226D Qg pwd 350000 1 350.000
39263200 gpwutilyuyuyht ghpp, dwujwh, 70-200t9, winnuwh, POUL hwn 500 7 3.500
uwhwunwl totipny
39263400 wdpwy PRUL wnnip 100 30 3.000
39263510 ubndwy, thnpn Q<L hwwn 30 100 3.000
39263520 ubnuiwy, thehl a<{ hwn 40 50 2.000
39263530 ubniwy, i6s Qg hwwn 60 50 3000
39299110 wwwyt upgwyitkp Q4 pwd 48700 1 4%.700
39513200 pneb woatenghy, bplyyGpun uu hun 150 38 2700
39514100 Juwynuwn upphsObp, puwdpwyjw Uu hwiwn 1500 4 6 000
39515440 nipnwhwjwg 2Gpunwywpugnuyn PRUL 42 4500 19 85,500
39522190 plwwwpybp [2]a]Vl4 huwwn 26000 3 75.000
39522250 thnant hwywpdw O YunnplObp uu hwuwn 280 15 4200
39711170 uwrlwpwGbn PoUL hwin 90000 2 1X0.000
39711230 phijh wwnpwuwndwo biEhunpwywb uwppbn POUL hwun 10000 1 10.000
39711230 phjh wwunpwuundw bEGunpwywl uwppbp uu hwuwn 10000 5 S0.000
39711240 bGYwnpwywl wnnuwntipltp PRUL hwn 5000 1 5000
39715250 opwwnwpwgnighs, tjEYunpwwnwpwgnighs, Yehguwnuyhl PPUL Apwd 169000 1 169.000
39715250 opwwnwpwgnighs, biEYunpuinwpuignighs, Yatgunuihb poUL pwd 81000 1 %1.000
39812410 Yuwhnph gy bigdwl shong POUL hwuwn 1250 2 2.500
39812410 Yuwhniyph thwyibgdwl dhong Uu hwun 1250 6 7.500
39812600 dwppnn dwénuybbp b thnzhGbp POUL hwin 250 3 0.750
39812600 dwppnn dwénybtp L dhnghkp Ul hwin 250 7 1.750
39831240 dwppnn Onipkp uu pwd 40000 1 40.000
39831241 odwn, dtinph JUu hwun 600 10 6.000
39831242 wgph Wnyh dbrpny (Jwbwint hwdwp uu Uhngpud 800 5 4.000
39831245 odwn, htnniy PRUL hwwn 2800 3 % 400
39831245 odwn, hbnnty uu hwwn 2800 3 8.400
39831246 htinniy Jwgnn theng Uu huwin 500 3 500
39831274 tynpwlh dwppdwl Gnipkip Uu hwin 1750 4 7.000
39831276 gniguinwiibph dwppdwb Gniptip PRUL Apwd 2250 1 2.250
39831276 qnigupwiiGph dwppdwl nptp Jyu Npwd 5150 1 S50
39831281 wwwiyh dwppiwl jwp uu hwun 400 6 2.400
39831283 hwunwyh (Jwgiw jwp Uu hwuwn 400 10 4.000
39835000 hwwnwily dwippbtne dnn, wjwundwub, hwjunjw yu hwuwn 2000 1 2.000
39836000 wybj, unynpwywil uu hwuwn 1000 4 1.000
42131470 onpwlylbph dwubp POUL Npwd 9550 1 9.550
42131470 dnpwlyGbph swubp uu Npwd 5450 1 3,450
42211140 uOGnp Wwwnpwuwniwl Jwewpwbbtp PPUL hwun 32000 1 32.000
42511112 wwwht nbnwnpynn onnpwlyhs uwnpbp POUL hwuwn 220000 2 440.000
42511112 wwuwh( wbknwnpynn onnpuyhs uwppbip Uu hwin 350000 1 350.000
42911140 onh qundwl uwppwynpmdlbp e Apwd 776000 1 776.000
42911210 onh Obpsddwl qunh;sGhip poUL hwuun 1500 500 750.000
44141110 funnnywilyatp Uu hwin 400 500 200.000
44171400 Oppwphpbnltp uu hwin 1000 20 20.000
44311130 thinwnwiywb gwbgtip Juu “pwd 50000 1 20,000
44322500 dwintpultp POUL dbuwp 500 235 117.500
44322500 duiniutbp Uu dbwnp 500 65 22500
44411110 oph énpwly, hwywl [s]alvls hwwn 4000 4 16.000
44411110 oph énpwy, thwywl Ju hwwn 4000 6 24,000
44423400 gnigwbwyttp b hwpwyhg wewpyuwdbp PCUL Npwd 20000 1 20,000
44423400 gnigwwyatp bt hwpwyhg wewpywabp Uu Apwd 20000 1 20.000
44423680 2hOwnwpnipjwl dbe oguiwgnnéynn quibwquil wyl PoUL nwid 105000 1 105.000
wuwpwbpbtip
44423680 2hGwpwpnipjwb 86 ogunwgnndynn quiliwquib wi uu Apwd 645000 1 645.000
wwpwiplbn
44441200 glnphywynp wewbgpwluw) Obp uu Npwid 50000 1 50.000
44511100 atinph gnpéhplbp uu pwd 50200 1 50.200
44511260 hnywpenyp uu Gk 300 50 15.000
44521170 ynnuwtiplbp pPoUL hwun 7000 2 14.000
44521170 Yynnutipltbp Uu hwin 7000 3 21.000
Twnwjnipjniibip
50111130 wyuinndtipbiwtbph yepwinpngiwb sweugnipiniGibp PLUL Apwd 650000 1 650,000
50111130 wyunnitipbOwGbph ybpwnpngiwl dwewjnipinibitp Q<L pwd 440800 1 440.800
50311120 hwdwlwpgswiht vwpptph wwhwwbiwo b Yepwbnpngdwl uu pwd 390000 i 390.000
SwrwintpIntbitn
50311120 hwiwlwnpaswih0 swppbph wwhuwidwo b yepwinpngiwdf  ROUL Apwd 150000 1 150.000
SwinwnipintGiGn
50771100 apuwublulwhb gniyph Yepwinpngiw b wwhuwwbiwl uu Npwd 535000 1 235.000

Swnwineint0Gtn




50851100 Lwhnyph ytipwinpngiwl b wwhywodwo swewinipniaotpnl  POUL pwd 15000 1 15.000
50851100 Ywhnuph dbpwonpngiwb b wywhwwidwh swnwynpiniaabp uu Apwid 15000 1 15.000
60181200 wpryntbwptpwu tdinfuwnpwishengGtiph uu Apwd 800000 1 800000
Jwndwlwintpinia’ Jwpnpnh htwn dhwuh(
64211100 hwpwyh0 htrwiunuwhl SwewynieinLlltp uu Npwd 1028000 1 102%.000
65311100 tlayunpuwiwinipjwl pwohuntd PoUL Apwd 5465000 1 5465.000
66111200 pwlywih0 dwrwinipgntbbbip PoUL pwd 120000 1 120 000
66511170 thnfuwnnwishengltiph htiun Yuwwywé wwwhnywgpwywo 18a]U04 Apwd 121000 1 121.000
SwpwnipniGn
71311440 funphpnuindwijut b hadtotpwnbuohyuyws [8]a1474 nwid 1500000 1 1500.000
tunphpnwindwibwb SwewinupintGObn
71351280 GpYpuwipwiwlwl dwewnipntbbbp no hwun 4500 5 22500
71911100 |wpnpwwnnphw w0 dwewynipnlGGp POUL Apwi 677500 1 677 500
72411500 hwiwgwOguyht tebph hnuphlgh dwruynipinLGltp [8]alV74 Apwyi 28800 1 25.300
72411700 nniGowht widwbnidbep POUL pwd 12000 1 12.000
79111200 GEpywywgnigs wywb swrewjnipintbatp rouUL Apwd 1100000 1 1106000
79131100 hpwywhwl thwuwnwenptph hbun Yuwws uu Apwd 490000 1 490 000
owpwintpntb0bn
79711160 wuwnbwiho swewjnipnttitip POUL Apwad 1560000 1 1560 000
79951111 ubihGwnbbpp Yugqdwybpwdwa swewynipniblbp PRUL pwd 25000 1 25.000
79971120 gpeh Ywquidwl dwewynipintbibp POUL pwd 30000 1 30.000
79971120 gpeh Ywqddwl swrwinignbibp UU Apwd 30000 1 30.000
90511100 wrnph hwywpdwl swewnieinblbp PLUL Apwd 20000 1 20.000
98351110 OtptowbEph YwjwlwwbnhObph hen Juwywsd PLUL wad 12000 1 12.000
swnwinpInbitn
99600000 qbnud shwlnhuwgnn wy Swiuubp ass Apwid 570000 1 570.000
Ujuwwnmwupubp
45461100 2t0ptiph, 2hOnip)nLbbtnh pOpwghly Gnpngdwh uu nwd 200000 1 200.000
uluwunwbplbbp
Cunwdbup 52789.123
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